EARAROBEEIERT — 2 N— IBISH —F

2013558108 (&) 2EI#HESH

AR > %3 1 0835 AKiE

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[A~&£] 1 7% :1,100,000  ~ 23 :330,000 37 :198,000 "

4 7% 132,000 53 :110,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
c= o= = fHAEsE : —1- — WA (fafE)
1ls|s| 771714771+ i3 54.0 1'(1_7)'4 i 406 3 (iﬂ) IHEE "
LB Ty7=—917 B:77/92174— =5 BX
¢ 2 H 3 | SHER 1:18.1 11-6-6 [39.8| — 2 484 | fE2ARTH (fRfE)
2|8|12| NINT—K=T 56.0 @ 3 | BEDX
R:TSvI84K BNANRT—JLAR AR #F
S G, A 3 | A= 1:18.3 9-11-11 [ 39.5| — 5 468 | EHA (intE)
3l7l9| 72782227 e 0 W (+3) |ElE
Ry TELAVF— B:T7RIAYNERR faAibae]
N . LEIR : -4~ — 1&BEEAL (Ma1E)
4|56 | T—7NN22— o8| 2% L 444|411 8 :_151) L e
RiA—JWHh7x B:ALT—KIILT 1 * 27— Rikis
o BEEXEH :18. -5- . — WBRE (1E)
5 3 Y RIS— N F— # 3 5.0 1(128)7 2-5-5 40.7 6 (4_610) :E%{E_ ]
LR T b F -G —K— K Biv7&4-50 Pt e]
_ E ] 10~ _ ESEHE
6lil1| 1> rT7227> 3 gf‘%éi’r 1.(129).1 10-10-8 | 40.4 8 | 441 é%v?‘ﬁ_ (#ats)
QiT—h1 BATTAT 40 g A
R B3 | EEEER 1:19.4 6-9-9 |40.8| — 7 418 | MUE (intE)
17 54.0 (1 1/2) o | =
L:FUr—hro> BNFHRI RN
s — LR :19. -1- . — 2R (HaHE)
Fr7iz=ar LI [aes I 1 (:?E) fr ARl
RAVRRT AT BARAITL -2 Wi 34F
N ERIKH : -1- — R (AAfE)
Ja™/3Yy 4 3 5j;i.o 1(.11/92.)6 4-1-3 42.8 4 ;1_23 bolg G
LG4 7 b)—Z2E—F B:L FOXZAIL KIFHS
EiaTEE :19. —8- . — FHEE (MHE)
A 4 3 = 1 (119)8 8-8-7 41.3 1 (4+535) q:m;g
R:TSATLXEAL BS54 797 RS
— N HERE : -12- - g S C )
AEFLT T i 3 o 1.(24()).7 12-12-12 | 41.4 12 (3_933) fen
w4 xNTT B:EL e ]
= : = - ETHE (i)
551k X 4 3 Xl 1.(261).9 6-7-9 | 43.5 10 ;1:126) $#;Z% A
L:TTU—F Bi¥vy hXRY—k ILEA ES
® I —F—EBIERL
13—7—
20—F— 4,(3,5),(6,10),(2,11),8,9,1,12,7
BEE (4,5,10),6,3,12,11,8,2,1,9,7
40—F— (4,5),10,6,3,12,8,1,(2,11),9,7
[ RN
B OB 5 380H 714K 5-12 270M e & 5-8 820M &R 5-9-12 3,680
7 B 5 170H 5-9 640 | | # B 5-8 1,450/ | | 3=& 5-12-9 17,2408
12 1404 9-12 830M B E 5-12 690
9 250M B H 5-12 1,620MH

ABICOVWTRDTEEERROODE. TR LIV,




